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Test:Math

Attempt ......... questions

" Symbol to show similarity: -gaﬂJWlwWécﬁfL’ﬁ
a) — b) = a) — b) =
c) = d) = c) = d) =

° If adjacent angles of two intersecting .@%sﬁuﬁdb‘g.mﬁéﬁﬁd’ B3/
lines are congruent then liness are LUl L0
to each other:
a) Parallel b) Perpendicular  a) ($JI5* b) »¥
¢) Both d) None c) U d) e i

’ Equality of ratios is defined as 2:”_/._,‘:«0')’:}@ Ldf,uuy):ziu}’ﬁ;_“
proportion: ~ift
a) Two b) Three a) & b) ¢
¢) Four d) Five ¢) b d) &

4 has no unit: -t’)’fd.?i.‘ff{’&f Einmass
a) Length b) Width a) dLJ b) dli{,
c) Area d) Ratio C)a d) s’

> The side of a right angled triangle e Ll sl3d 15900t adie sl M1 i
opposite to 90° is called: Ut 2 é"
a) Base b) Hypotenuse a) s.ld by » 7
c¢) Perpendicular d) None c) ¥ d) d:‘{d[

¢ In a right triangle the greatest angle is :____/;_L‘:»fd:l)fﬁ:a...,.«-“w.Ll‘ic_,;ljly’ﬁ'
of :
a) 300 b)-450 a) 300 b) 450
c) 90° d)60° ¢) 90° d) 60°

! A triangle has types w.r.t angles. . ..u“c’l’l,}“l ..... LEULU&’:UO/U?P
a) Five b) Four a) &l b) s
c) Two d) Three c) d) ¢~

® In figure value of X is : 12 sy e x i F
a) 5 b) 4 a) 5 b) 4
c) 2 d) 3 c) 2 d) 3
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